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Read the following passage and answer the questions that follow. Words marked with an

asterisk (*) are defined in the Notes section at the end of this passage.
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Adapted from Walker, J. A. & Chaplin, S. (1997). Visual Culture: An Introduction.



Notes:
undermine: weaken

quota system: a system that limits the amount of particular goods that can enter or leave a country

(1) Translate the underlined part (A) into Japanese.

(2) Put the words in the underlined part (B) in the correct order. The word that comes at the

beginning of the sentence is also shown with a small letter.

(3) Choose the best option to fill in the blank of (C) from the list below and answer with the

corresponding letter.

(@) we should regard our societies as ‘inherently singular’

(b) we should identify plural cultures with a singular culture

{¢) we should refer to our societies as ‘singular’ rather than as ‘plural’

(d) we should realise plural cultures no longer exist in a globalised world

(€) we should speak of ‘cultures’in the plural rather than ‘culture’ in the singular

(4) Choose the best option for the blanks of (D) and (E) from the list below and answer with the

corresponding letter.

(@) challenge (b) conflict (€) harmony

(d) line (e) obstruction (f) support

(5) As for the underlined part (F)The way American mass culture is exported around the globe is an

obvious example, what factors enable American mass culture to be exported around the globe?

Answer in Japanese.

(6) Select all the options that match the claims of the authors from the following and answer with

the corresponding letter (s).

(@) Culture is independent of nature, and both are not interrelated to each other.

(b) There is a possibility that the winner of a war suppresses the culture of the loser.

() Globalisation should be accelerated to eliminate wars caused by cultural differences.

(d) Some countries have taken measures to fight against the cultural influence of the U.S.A.

(€) The aggressive characteristics of humans are derived from the diversity of culture.
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Adapted from Syed, M. (2019). Rebel Ideas: The Power of Diverse Thinking.

Notes:
panel: a group of people who make a decision about something

CV: a summary of one’s academic and work history usually submitted with a job application

dismantle: take something apart

(1) Select the most appropriate word for each blank of (A), (E), (F), (H) from the list below. Write

the letter corresponding to the word. Use each word only once.
(@) inferiority (b) objective (C) subjectivity (d) race (€) superior (f) regardless

(2 As for the underlined part (B)unconscious bias, what kind of unconscious bias led to the

selection of more male performers for orchestras? Write your answer in English in a complete

sentence.
(3) As for the underlined part (C) an idea, answer the following questions in English.
(@) What does this idea refer to in this context? Answer the question using 5 words or less after the
phrase ‘It refers to’ on the answer sheet.
(b) What did this idea make possible in the process of selecting musicians? Answer the question after

the phrase “This idea made it possible to’ on the answer sheet.

@) Put the words or phrase in the square brackets of (D) and (G) in the correct order.

3

Recently, translation application software has remarkably improved due to advances in Al technology.
Therefore, some people say that with such useful tools, Japanese people no longer need to learn English. Do
you agree or disagree with this idea? Write your opinion in English and in 80-100 words including at least
two reasons. Be sure to include the advantages or disadvantages of using such software in at least one of
your reasons. In the parentheses provided at the end of this section of the answer sheet, write your total

word count.



% B B B “womom | & Ao
T G #)
(2—1)
A = x m -
H R (2) Wade 7, FHRNAR SRS C 2
ML gL (3) T 5 L, 5 G I A &
FhlaZ &,

(24ho> 4 1 KO

(1)

(2)

(3)

(4)
(D) (E)

(5)

(6)

(1)
A) (E) (P (H)

(2)
(@) It refers to
(b) This idea made it possible to

(3)
(D

(4)
(@

‘Hté }i"\-{




S OB | & # K
CH

(2—2)

)
:E
. ER

a

- - § =
A2 ¥ W |2 R OE B =R

< T (1) ZESESE, 22FICAAT ST L,

SE (i) - N A (2) AABREE FiE, PEHMUIRGRD Z &,

bR FHl Poor b i (3) THE6 BE, BIUEMICIEME =
EhlznZ &,

(2HohD 52 K

(—1T1Z 10 words FRETEZEL Z &)

Total word count; ( ) words

7 b
B




T & A K/

T

= .
E

ZOTEMHMUICEAL 2f

77

i

EIL RAOHRE LERAOTHBR> T AN,






